5 4=2000 AS4=2000

|

fax? @ arY
85 5 o o e o e s s s s s s s 7 s e e s e s

458 A{EW=1908.4 A{EW=1908.4 45.8
ﬁ 5 [2184(P:546) P=522 218.4(P=54.6) 5‘ SIED36 “
&8 e o i e
wn
¥
a i g
H & L AR =1 ¥
a EXTE Camees o s
(=] g
wn (23]
038 | 542000 | 42000 |
_ EE ok S BE = ivs R BE
WEg—E BERY A& (BE) BEERMME—E
WImm] HImm] BEYFmm] - SRTTERE (AT 7 100kN/ n ) E:] e KA
mm,
600 h[mm] b[mm] dlmm] =3 AF—Ib BRI
800 600 PEST . 2F—=Ib B
350 350
1908.4 1000 20004 F 800 BT 2F—=I B
1200 1000 150 400 400
1500 1200 500 500
1500 600 600
ZERE RITEE I®% [’ =& R
% IH /
* o PRF—IVTIVR A =Ry TTVRIMEL 5 B
B 00 omED (H600~1500) XF —ILEHEH / 6

GIOI0IGI0IGI0I0IGIO



